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QUESTION 1

Which three are valid statements about Locations In Data Management? 

A. A location can be assigned to more than one data load rules. 

B. A location can be assigned to more than one Import format. 

C. You can create duplicate locations with the same source system and application combination. 

D. Different locations can use the same import format. 

E. A location may have more than one source system. 

Correct Answer: ACD 

 

QUESTION 2

Which statement Is FALSE about this EPM Automate command? 

A. It will fail if the user does not have the Service Administrator role. 

B. It will load data from profitdata1.txt data then run all rules in rule1, txt 

C. It will fall If ruiei.txt and profitdatai.txt are not uploaded to the profitinbox first. 

D. It will clear data from the slice of the database referenced in the data file and leave other data intact. 

Correct Answer: C 

 

QUESTION 3

Which two statements are true about allocation tracing? 

A. You can trace allocation inputs and outputs both forward and backward. 

B. You select the rule you want to trace In the trace parameters. 

C. Allocation traces can be performed across multiple business dimensions simultaneously. 

D. It is a graphical representation of how allocations flow in and out of application elements. 

Correct Answer: AD 

 

QUESTION 4
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Which Is NOT a key quality of the Models Interface In Profitability and Cost Management? 

A. Setting up the flow of funds through the financial system 

B. Managing and running reports 

C. Managing rules and rule sets 

D. Point and click model administration and calculation 

Correct Answer: D 

 

QUESTION 5

Which Is an TNCORRFCT way to execute a data load rule In Data Management? 

A. Execute option on the Data Load Rule screen 

B. Run Integration option on the Workflow lab 

C. Batch Execution option on the Workflow tab 

D. Import Source option on the Data Load Workbench screen 

Correct Answer: A 
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